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[J #include #include class Point { int x,y. public: Point(int i,int
{x=1.y=}.} friend float distance(Point amp.p2). void disp() { cout}
}. float distance(Pointamp.p2) // 00 O 0O 0O 0O 0O O {float d.
d=sqrt((pl.x-p2.x)*(pl.x-p2.x) (p1.y-p2.y)*(pl.y-p2.y)). return d.
} void main() { Point p1(2,2),p2(5,5). pl.disp(). coutcout} [ [ [
Do0o0od (2,20 (B,5)0 0 0 U =4.24264
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JO0000000subsQUOOOUOOUOOUOOOoOooOOoO
0000000 #include #include class Date { int year. int month.
Int day. public: Date(int y,int m,int d) { year=y.month=m.day=d. }
void disp() { printf("%d.%d.%d",year,month,day). } friend int
count_day(Date amp.d1,Date amp.d,int flag) { static int
day_tab[2][12]={{31,28,31,30,31,30,31,31,30,31,30,31},
{31,29,31,30,31,30,31,31,30,31,30,31}}. /0 00000



J00000000000oooonogan intp,is.
If(leap(d.year)) p=1. else p=0. if(flag) { s=d.day. for(i=L1.is
=day_tab[p][i-1]. } else { s=day_tab[p][d.month]-d.day.
for(i=d.month 1. is =day_tab[p][i-1]. } returns. } int leap(int year) {
if(year%4==0amp.year0!=0||year@0==0) // O 10 O return 1. else //
0 OO 0O return 0. } int subs(Date amp.d2) { int days,dayl,day2,y.
if(d1.year{ days=count_day(d1,0). for(y=d1.year 1. yif(leap(y))
days =366L. else days =365L. days =count_day(d2,1). } else
If(d1.year==d2.year) { dayl=count_day(d1,1).
day2=count_day(d2,1). days=day2-dayl. } else days=-1. return
days. } void main() { Date d1(2000,1,1),d2(2002,10,1). int
ds=subs(d1,d2). printf("0] O O O :\n"). if(ds>=0) { d1.disp().
printf("O ). d2.disp(). printf("UJ O O %d0O \n\n",ds). } else printf("
DJO0oOdN\).}0000o0boooudno dodonD 2000.1.1
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O 0O 0000 #include class Person { int no. char name[10]. int
deg. public: friend void main(). }. void main() { Person obj.
coutcin>>o0bj.no. coutcin>>0bj.name. coutcin>>0bj.deg.
coutcout} 0 0000000 oooonoi1o0o0n
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0000000 #include #include #include class student { char
name[10]. int deg. char level[7]. friend class process. // O 0O O 0O [
public: student(char na[],int d) { strcpy(name,na). deg=d. } }. class
process { public: void trans(student &amp.s) { if(s.deg>=90)
strcpy(s.level,"I ). else if(s.deg>=80) strcpy(s.level,"] "). else
If(s.deg>=70) strcpy(s.level,"[1 "). else if(s.deg>=60) 100Test [1 [
Oo0o00o00oooooooooooood
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